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fo"k; % HkkSfrd 'kkL=fo"k; % HkkSfrd 'kkL=fo"k; % HkkSfrd 'kkL=fo"k; % HkkSfrd 'kkL=    

Subject: PHYSICS 

(Hindi & English Versions) 

le; % 03 ?k.Vs                                                                         iw.kk±d % 075 

Time: 03 Hours                                                                 Maximum Marks: 075 

funsZ’k%& funsZ’k%& funsZ’k%& funsZ’k%&         

    (i)    iz’u i= nks iz’u i= nks iz’u i= nks iz’u i= nks [k.Mksa ^v^ rFkk ^c^ esa foHkkftr[k.Mksa ^v^ rFkk ^c^ esa foHkkftr[k.Mksa ^v^ rFkk ^c^ esa foHkkftr[k.Mksa ^v^ rFkk ^c^ esa foHkkftr    gSAgSAgSAgSA    

    (ii)    [k.M[k.M[k.M[k.M    ^v* ^v* ^v* ^v* ds lHkh iz’u ds lHkh iz’u ds lHkh iz’u ds lHkh iz’u gy djuk vfuok;Z gSA iz’u Øgy djuk vfuok;Z gSA iz’u Øgy djuk vfuok;Z gSA iz’u Øgy djuk vfuok;Z gSA iz’u Ø----    5 ls5 ls5 ls5 ls    17 rd izR;sd iz’u 17 rd izR;sd iz’u 17 rd izR;sd iz’u 17 rd izR;sd iz’u 

esesesesaa aa    vkarfjd fodYi fn;s x;s gSvkarfjd fodYi fn;s x;s gSvkarfjd fodYi fn;s x;s gSvkarfjd fodYi fn;s x;s gSaa aaAAAA    

    (iii)    ^c* [k.M ds dsoy ,d fodYi ds lHkh iz’u gy djsaA^c* [k.M ds dsoy ,d fodYi ds lHkh iz’u gy djsaA^c* [k.M ds dsoy ,d fodYi ds lHkh iz’u gy djsaA^c* [k.M ds dsoy ,d fodYi ds lHkh iz’u gy djsaA    

 (iv)    izR;sd iz’u gsrq fu/kkZfjr vad izR;sd iz’u gsrq fu/kkZfjr vad izR;sd iz’u gsrq fu/kkZfjr vad izR;sd iz’u gsrq fu/kkZfjr vad iz’u ds lEeq[k vafdr gSaAiz’u ds lEeq[k vafdr gSaAiz’u ds lEeq[k vafdr gSaAiz’u ds lEeq[k vafdr gSaA    

 (v)    vko’;drkvko’;drkvko’;drkvko’;drkuqlkj Li"V o ukekafdr fp= cuk,auqlkj Li"V o ukekafdr fp= cuk,auqlkj Li"V o ukekafdr fp= cuk,auqlkj Li"V o ukekafdr fp= cuk,aAAAA    

INSTRUCTIONS:-  

 (i) Question paper is divided into two parts ‘A’ and ‘B’.  

 (ii)  All questions of part ‘A’ are compulsory to attempt. Internal options are given 

in each question from question No. 05 to 17. 

 (iii) Attempt all questions of only one option of part ‘B’ 

 (iv) Marks allotted on each question are mentioned in front of the question. 

            (v) Draw neat and labelled diagram wherever  necessary.  
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[k.M & [k.M & [k.M & [k.M & ^̂̂̂vvvv^̂̂̂    
SECTION – ‘A’ 

iz-1 izR;sd iz’u esa fn;s x;s fodYiksa esa ls lgh fodYi pqudj fyf[k;s%& 

¼v½ vf/kdre {kSfrt ijkl ds fy, iz{ksI; dk iz{ksi.k dks.k gksuk pkfg,& 

 (i) 30°                   (ii) 60°  

 (iii) 45°                           (iv) 90° 

¼¼¼¼5½5½5½5½ 

 ¼c½ oLrq dk og xq.k tks viuh voLFkk esa ifjorZu dk fojks/k djrk gS] 

dgykrk gS&  

 (i) tM+Ro                   (ii) pky  

 (iii) ?k"kZ.k                           (iv) izR;kLFkrk 

 

 ¼l½ dk;Z dk foeh; lw= gS&  

 (i) 2 2TML −       (ii) 2 MLT −  

 (iii)  2 20 T L M −      (iv) 3 22 T L M −  

 

 ¼n½ fo|qr /kkfjrk dk S.I ek=d gS&  

 (i) LVsV QSjM              (ii) QSjM  

 (iii) LVsV dwykWe                      (iv) dwykWe 

 

 ¼b½ fdlh ifjiFk esa /kkjk dk ekiu djus ds fy, yxkrs gSa&  

 (i) oksYVehVj              (ii) /kkjkekih  

 (iii) vehVj                      (iv) oksYVkehVj 

 

 Select and write the correct option from the options given in 

each question:- 

(a) The angle of projection of projectile for maximum range 

must be- 

 (i) 30°       (ii) 60° 

 (iii) 45°       (iv) 90° 

 

 (b) The property of a body which opposes the change in its 

state is called- 

 (i) inertia             (ii) speed 

 (iii) friction      (iv) elasticity 
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 (c) Dimensional formula of work is- 

 (i) 2 2TML −       (ii) 2 MLT −  

 (iii)  2 20 T L M −      (iv) 3 22 T L M −  

 

 (d) The S.I. unit of electrical capacity is- 

 (i) stat - farad      (ii) farad 

 (iii) stat - coulomb             (iv) coulomb 

 

 (e) To measure current in a circuit, the instrument used is- 

 (i) voltmeter      (ii) galvanometer 

 (iii) ammeter      (iv) voltmeter 

 

iz-2 fjDr LFkkuksa dh iwfrZ dhft;s&  

¼v½ æo pkfyr fy¶V-------------------------------------------------------ds fu;e ij vk/kkfjr gSA  

¼c½ ,d vPNk vo’kks"kd----------------------------------------------------------------mRltZd gksrk gSA 

¼l½ Bkslksa esa Å"ek dk LFkkukUrj.k------------------------------------------------fof/k ls gksrk gSA 

¼n½ lsds.M yksyd dk vkorZdky-----------------------------------------------------------------gksrk gSA 

¼b½ xksyh; niZ.k ds /kqzo ls Qksdl rd dh nwjh dks] ml niZ.k dh         

----------------------------------------------------dgrs gSaA 

¼¼¼¼5½5½5½5½ 

 Fill in the blanks-  

(a) Hydraulic lift is based on………………………………….law. 

(b) A Good Absorber is a…………………………..………emitter. 

(c) The transfer of heat takes place in solids by……..…method. 

(d) The time period of seconds pendulum is…………………….. 

(e) The distance from pole of spherical mirror to its focus is 

called…………………………………..of the mirror. 
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iz-3 lgh tksM+h cukb;s&         

 dkWye Þvß      dkWye Þcß 

¼v½ xSl ds v.kqvksa dh xfr    (i) ( ) RT  b-V  
V

a
 P

2
=








+  

¼c½ ok.MjokYl xSl lehdj.k  (ii) tesZfu;e 

¼l½ 'kq) v)Zpkyd    (iii) oksYVst fu;ked 

¼n½ ljy lw{en’khZ dh vko/kZu {kerk (iv) f=foeh; xfr 

¼b½ t+suj Mk;ksM    (v) 
f

D
1+  

¼¼¼¼5½5½5½5½ 

 Make the correct pairs-  

 Column “A”      Column ”B”  

(a) motion of molecules of gas (i) ( ) RT  b-V  
V

a
 P

2
=








+  

(b) Vander walls gas equation (ii) germanium 

(c) pure semiconductor  (iii) voltage regulator 

(d) magnifying power of simple    (iv) three dimensional                           

microscope      motion 

(e) Zener diode    (v) 
f

D
1+  

    

iz-4 izR;sd iz’u dk mÙkj ,d okD; esa nhft;s&  

¼v½ nks Lofj= f}Hkqtksa dh vko`fÙk;k¡ 24 gV~Zt+ vkSj 22 gVZ~t+ gSA ;fn nksuksa 

,d lkFk /ofu mRiUu djrs gSa] rks izfr lsd.M fdrus foLiUn lqukbZ 

nsaxs\ 

¼c½ ,d dwykWe vkos’k esa bysDVªkWuksa dh la[;k fyf[k;sA 

¼l½ 2 vkse vkSj 3 vkse ds izfrjks/kksa dks Js.kh Øe esa tksM+us ij rqY; 

izfrjks/k fdruk gksxk\ 

¼n½ fdl xsV dks mRØed xsV dgrs gSa\ 

¼b½ ysDyka’kh lsy esa iz;qDr fo/kzqod dk uke fyf[k;sA 

¼¼¼¼5½5½5½5½ 
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 Give answer of each question in one sentence- 

(a) The frequencies of two tuning forks are 24 Hz and 22 Hz. If 

both are sounded together, then what no. of beats will be 

heard together? 

(b) Write no. of electrons in one coulomb charge.  

(c) Two resistors of resistance 2 Ω and 3 Ω  are connected in 

series. What will be the equivalent resistance of this 

combination? 

(d) Name the gate which is called inverter? 

(e) Which substance is used as depolariser in a Lechanche 

cell? 

 

iz-5 jsfxLrku fnu esa cgqr xeZ rFkk jkr esa cgqr B.Ms gks tkrs gaSA D;ksa\ 

In deserts, days are very hot and nights are very cold. Why?    

vFkokvFkokvFkokvFkok@@@@ OR 

rk¡cs ds ,d VqdM+s dk æO;eku 100 xzke rFkk izkjafHkd rki 20°C    gSA ;fn 

rk¡cs dh fof’k"V Å"ek 0-1 dSyksjh@xzke °C gS rks VqdM+s dks 50°C rd xeZ 

djus ds fy, vko’;d Å"ek dh x.kuk dhft,A 

The mass of a piece of Copper is 100 gm. and its initial 

temperature is 20°C. If Specific heat of Copper is 0.1 cal /gm. 

°C, calculate the heat required to raise its temperature up to 

50°C. 

¼2½¼2½¼2½¼2½ 
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iz-6 ijkorZu ds fu;e fyf[k;sA  

State Laws of reflection.    

vFkokvFkokvFkokvFkok@@@@ OR 

iw.kZ vkarfjd ijkorZu dh 'krasZ fyf[k;sA        

Write the conditions for Total internal reflection. 

¼2½¼2½¼2½¼2½ 

iz-7 ,d ijek.kq dk ijek.kq Øekad 11 rFkk ijek.kq Hkkj 23 gSA crkb;s& 

(i)   ijek.kq esa izksVkWuksa dh la[;k 

(ii)   ijek.kq esa U;wVªkWuksa dh la[;k 

The atomic number of an atom is 11 and atomic weight is 23 

State- 

(i)   No. of Protons in the atom. 

(ii)  No. of Neutrons in the atom. 

vFkokvFkokvFkokvFkok@@@@ OR 

jsfM;ks,fDVork fdls dgrs gSa\        

What is radioactivity? 

¼2½¼2½¼2½¼2½ 

iz-8 pkyu] laogu rFkk fofdj.k esa dksbZ rhu varj fyf[k;sA 

State any three differences between conduction, convection and 

radiation.    

vFkokvFkokvFkokvFkok@@@@ OR 

,d dkuksZ batu 427°C rFkk 27°C ds e/; dk;Z djrk gSA bldh n{krk Kkr 

dhft,A         

A carnot engine works between 427°C and 27°C. Calculate its 

efficiency. 

¼3¼3¼3¼3½½½½ 
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iz-9 ljy vkorZ xfr fdls dgrs gSa\ bldh dksbZ nks fo’ks"krk;as fyf[k;sA 

What is Simple harmonic motion? State its any two 

characteristics.    

vFkokvFkokvFkokvFkok@@@@ OR 

foLiUn fdls dgrs gSa\ foLiUn cuus ds fy, vko’;d 'krasZ fyf[k;sA        

What are Beats? State conditions required for the formation of 

beats. 

¼3¼3¼3¼3½½½½ 

iz-10 vory niZ.k ds fy, u,v o f esa lEcU/k LFkkfir dhft,A 

Establish relationship between u, v and f for a concave mirror.    

vFkokvFkokvFkokvFkok@@@@ OR 

la;qDr lw{en’khZ dk o.kZu fuEu 'kh"kZdksa esa dhft,& 

(i)  izfrfcac fuekZ.k dk ukekafdr js[kkfp=        

(ii)  lw{en’khZ uyh dh yackbZ 

tcfd vafre izfrfcac Li"V n`f"V dh U;wure nwjh ij cusA 

Describe Compound microscope under the following heads- 

(i)   Labelled ray diagram for the formation of image. 

(ii)   Length of microscope tube. 

When the final image is formed at the least distance of distinct 

vision. 

¼3¼3¼3¼3½½½½ 
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iz-11 osx vkSj pky esa dksbZ pkj vUrj fyf[k;sA 

Write any four differences between velocity and speed.    

vFkokvFkokvFkokvFkok@@@@ OR 

,d fi.M ij 40 U;wVu dk cy yxkdj mls cy dh fn’kk ls 60° dk dks.k 

cukrs gq, 20 ehVj foLFkkfir fd;k tkrk gSA fd;s x;s dk;Z dh x.kuk 

dhft,A                 

A force of 40 N is applied on a body to displace it by 20 m. in a 

direction at an angle 60° with the direction of force. Calculate the 

work done. 

¼4¼4¼4¼4½½½½ 

iz-12 U;wVu dk lkoZf=d xq#Rokd"kZ.k dk fu;e fyf[k;s rFkk bldh lgk;rk ls 

lkoZf=d xq#Rokd"kZ.k fu;rkad “G” dk eku rFkk foeh; lw= fyf[k;sA 

State Newton’s Universal Gravitational Law and use it to obtain 

the value of Universal gravitational constant “G” and its 

dimensional formula.    

vFkokvFkokvFkokvFkok@@@@OR 

fl) dhft, fd  cgrs gq, æo dh leLr ÅtkZvksa dk ;ksx lnSo fu;r 

jgrk gSA                 

Prove that the sum of all energies of a flowing liquid always 

remains constant. 

¼4¼4¼4¼4½½½½ 

iz-13 xkWl dk izes; fyf[k;s rFkk bls fl) dhft,A 

State Gauss’s theorem and prove it.    

vFkokvFkokvFkokvFkok@@@@ OR 

ikfFkZo pqaEcdRo ds vo;o V, H, I o Q esa lEcU/k LFkkfir dhft,A        

Establis Establish the relationship among the elements of terrestrial 

magnetism V, H, I and Q. 

¼4¼4¼4¼4½½½½ 
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iz-14 ukfHkdh; lay;u rFkk ukfHkdh; fo[k.Mu esa dksbZ pkj vUrj fyf[k;sA 

Write any four differences between nuclear fusion and nuclear 

fission.    

vFkokvFkokvFkokvFkok@@@@ OR 

,d  ,d jsfM;ks,fDVo ukfHkd U
92

238
 yxkrkj {k; gksrs gq, Pb 

82

206
 esa cnyrk 

gSA bl {k; esa fdrus α rFkk β d.k mRlftZr    gkasxs\    

A radioactive nucleus U
92

238
 continuously decays and changes 

into Pb 
82

206
. In this decay how many α and β particles are 

emitted? 

¼4¼4¼4¼4½½½½ 

iz-15 v)Z rjax fn"Vdkjh ds :i esa P-N laf/k Mk;ksM dk o.kZu fuEu 'kh"kZdksa esa 

dfj;s& 

(i)  fo|qr ifjiFk dk ukekafdr fp=        

(ii) fuos’kh ,oa fuxZr foHko dk le; ds lkFk ifjorZu vkjs[k 

Describe the use of P-N junction diode as a half wave rectifier 

under the following headings- 

(i)  Labelled circuit diagram 

(ii) Graphs showing the variation of input potential and output 

potential with time. 

vFkokvFkokvFkokvFkok@@@@ OR 

NOR xsV dh lkoZf=d izd`fr dh O;k[;k dhft, rFkk crkb;s fd blls 

OR, AND rFkk NOT xsV dSls izkIr fd;s tkrs gSa\        

Explain the universal character of NOR gate and explain how 

are OR, AND and NOT gates obtained from it?                                                   

¼4¼4¼4¼4½½½½ 
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iz-16 dkj.k crkb;s] D;ksa\ 

(1)  fØdsV dk f[kykM+h xsan yidrs le; viuk gkFk ihNs [khap ysrk gSA  

(2)  dacy dks NM+h ls ihVus ij mlls /kwy ds d.k vyx gks tkrs gaSA 

(3)  yach dwn ds f[kykM+h dqN nwjh ls n©M+dj dwnrs gaSA 

(4)  canwd ls xksyh pykus ls] pykus okys dks /kDdk yxrk gSA 

(5)  ldZl ds dykdkj tkyh ;k eksVs xn~ns ij dwnrs gSaA 

Give reason, why? 

(1)  While catching a ball, the cricketer withdraws his hands. 

(2) On beating a blanket with a stick, the dust particles get 

isolated from it. 

(3)  An athlete often runs before taking a long jump. 

 (4) On firing a bullet from a gun, the gunner experiences a 

backward push. 

(5)  In a circus, the artist often jumps on a net or thick cushion. 

vFkokvFkokvFkokvFkok@@@@OR 

tM+Ro vk?kw.kZ lEcU/kh yac v{k dk izes; fyf[k;s rFkk fl) dhft;sA        

State theorem of perpendicular axis of moment of inertia and 

prove it. 

¼5¼5¼5¼5½½½½ 
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iz-17 fdlh xksykdkj la/kkfj= dh /kkfjrk ds fy, lw= LFkkfir dhft,A bldh 

/kkfjrk dks dkSu&dkSu ls dkjd izHkkfor djrs gaS\ 

Establish formula for the capacity of a spherical condenser. 

What are the factors affecting its capacity? 

vFkokvFkokvFkokvFkok@@@@ OR 

fn"V /kkjk eksVj dk o.kZu fuEu 'kh"kZdksa esa dhft,& 

(i)   fl)kar                 

(ii)   ukekafdr js[kkfp= 

(iii)  izeq[k Hkkx                 

(iv)  dksbZ nks mi;ksx   

Describe D.C. motor under the following points- 

(i)  principle 

(ii)  labelled diagram 

(iii)  main parts 

(iv)  any two uses 

¼5¼5¼5¼5½½½½ 

 [k.M & [k.M & [k.M & [k.M & ^c^^c^^c^^c^@@@@    SECTION – ‘B’ 

oSdfYid ekWM~;wyoSdfYid ekWM~;wyoSdfYid ekWM~;wyoSdfYid ekWM~;wy@@@@    Optional-Module 

    

iz-18 
 

 

iz-19 
 
 
iz-20 

,ukykWx flXuy rFkk fMftVy flXuy esa dksbZ nks varj fyf[k;sA 

Write any two differences between analog signal and digital 

signal. 

izdkf’kd rarq dk fl)kar fyf[k;s rFkk blds nks mi;ksx fyf[k;sA 

State the principle of optical fibre and write its two uses. 

QSDl ls D;k rkRi;Z gS\ CykWd vkjs[k }kjk bldh dk;Zfof/k le>kb;sA 

What is Fax? Explain its working with a block diagram. 

¼2½¼2½¼2½¼2½    

    

¼3¼3¼3¼3½½½½    

    

¼5¼5¼5¼5½½½½ 
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iz-18 

 

iz-19 

vFkokvFkokvFkokvFkok@@@@ OR 

VªkalM~;wlj fdls dgrs gSa\ blds nks mnkgj.k fyf[k;sA    

What are transducers? Give any two examples of it. 

ohfM;ks fMLd ds nks ykHk ,oa ,d deh fyf[k;sA        

Write any two advantages and one demerit of video disc. 

    

¼¼¼¼2222½½½½    

    

¼3½¼3½¼3½¼3½ 

iz-20 
 

fMftVy dSejs dk o.kZu djrs gq, bldh izeq[k fo’ks"krk,¡ fyf[k;sA        

Describe digital camera and state its main characteristics. 

¼5¼5¼5¼5½½½½ 

 

------------------------------- 

    
    


